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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1.1. Any value of the variable which makes the equation a true statement is called: _‘L{:l]}ﬁfg_/y)J{a’!PLf:?chgu 141
(A) equation  =lsbs (B) inequality =hi-Zd (C) variable oo (D) solution

2. Solution setof [x—~1|=4 is: ,,;‘,;,:-._J’le— =4 2
@ {53} ® {-5-3 © {-53} @ {53}

3. Solution set of (x—2)2 =4 is: 1 [x—2]2 =4 3
&) {0.4} ® {-6.2} © {-6-2 o {2.6)

4 The number of techniques to solve a quadratic equation are: _u;r&'_.}’ii.)?fabvdm: 4
(A) 1 (B) 2 € 3 (D) 4

5. If A = A, then A is called et AdA' =4N 5

(A) symmetric matrix S (B) skew symmetric matrix —6fi85
(Cj transpose matrix JE%1/ (D) square matirx 60,
412 6. _[12 6]
5 # s J‘“B” 5.4 i equsl 1N ez det. A= g 31/ 8
(A) 0 (B) 6 o &3 (D) 38

7. A polygon with four equal sides is called: -q_(jlkfuxdsv(,u&Ig»gé&buﬁmﬁ"ﬁl 7

(A) triangle A& (B) parallelogram { =il (C) square &, - (D) rectangle =
8. The number of angle bisectors in a triangle is: , e APl g p e 8
(A) 4 (B) 3 € 2 D) 1

9. Volume of a cube with edge (' is: e f U SR AT 9

A £ ® © 3¢ o

10. d =\[(Jc2 —X, )2 +(, = )2 is called: et d =\/(x2—xl)2+(y2—y, )I 10
(A) distance formula . F¥Lo6 (B) collinear points  bBL (A
(C) non collinear points Ve (D) equal points  bEJL~

1. ((;_b)2+(g+h)3 is equal to: _,.?__,;V'(r;u'—-b)z-i-(ar+b)2 11

(a) —4ab @) a +b’ (c) 4ab o 2(a+t)

12. The simplest form of /147 is: -é..fq’./‘/:{; 147 12

(A) 147 B) 73 ©) 37 D) 21
13. Factorization of x* -9 is: _c.:.-'u{,‘?;ur x1-9 13
@A) (x=3)(x+3) @) (x+3)(x+2) © (x-3)(x-3) @ (x-9)(x+9)

14. A quadratic polynomial is of degree: _‘th_‘wb’gz/f-’:?m; 14

(A) O B) 1 © 2 (D) 3
15. H.C.F of 6pgr and 15475 is: —e P 15qrs 5 6pgr 15
(A) 397 ® 3par © 3pgrs © 15pgrs
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Section -1 2x18=36 Jil>

2. Write short answers of any six parts from the following. 2x6=12 -L;,&}agu:ﬁ"&lzqaéfmxdsw 2
b 2
x"=2x x -4

i. Simplify: e _Q//z_}' i
x+1  x +2x+1
ii. Solve by formula. _ (2p+q) B, 1A NOSH
' 43 e
iii. Rationalize the Denominator. m L e F i
iv. Factorize: x4+ 2xy+y -42° _L)_‘/Jf iv
v. Factorize: x*' +5x=6 _L,_'/r}"g}/“é_rz' v
vi. 1f p(x)=x"+5x> =13x* =30 then find the value of P(~1). §p(=1)ie p(x)=x*+5c"-13x" =30 /i vi
gt
vii. Find H.C.F. 4abc’ 8a’be,6ab’c S i
viii. Define L.C.M. S AP ks i
ix. Find square root of: 16x” + 24xy +9y° e ix
3. Write short answers of any six parts from the following. 2x6=12 _L;)};;L#.e/#“:rizlgaéfgd Jits 3
i. Solve . 3x+20=44 g
ii. Solve. Jx+1=3 L
iii. Define linear inequalities. -J_/..éf/'"ui,fl.-v,{y il
iv. Factorize. : P Hpad S LSS5
v. Solve . X +4x-77=0 S v
vi. Solve. %% =3x AL i
vii. Define Non-singular matrix. YA PR
5 2 § 2
vii. 1f 4= LU J then find det A Ly Se i detAy A= 1:] 0 4] viii
2] -1 3 .
ix. Find the value of 4B if: S i!.3 _2J . B :[ 4 E] 2 fuérﬂmélf AB ix

4- Write short answers of any six parts from the following. 2x6=12 _q)}faglﬁﬁ"ﬁdzi{c.éfa_dd'_}an 4
i. What is meant by vertical angles? el Ugilisls

ii. Find the value of X in the given triangle. i x pakeFs i

ii. Define parallel lines. Sy A i



iv. Define tangent to the circle. -\,;‘/...é'/UJL‘%}b

v
v. Draw a equilateral triangle with length of each side 4cm. = 461,4‘(! (’,J'} L e e Bl iidns v
vi. Define area. ﬁ._g/_:y /:"J.}'; Vi
vii. What is meant by pathagoras theorm? Te :!,*l,_;rc. L i
viii. Write down the distance formula between two points. _qfoﬁf Klebulnd Lo viii
ix. Define origion. SN ix
Section -II (922

Note: Attempt any three questions from the following: 8x3=24 ..u_‘): ngﬁaﬂlrwfc.dfadgbb» Y

2 2
) 1 1 ]

5. (a) Find the value cf(P +;] if: 7 =V10+3 :ﬁufj?‘}b’.;‘gg;[p s ;] (W) 5

—  (b) Factorize: x x4l _J_fdf. ()
6. (a) Find the H.C.F by division method. x4x?+1, 20+ x0 41 _.,,jx(}"(HCF)(yl;L;c.J;, )z:,_/:"’" ((8-) I}

- (b) Solve : 3(x+5)>2(x+2)+8 -é‘,{f o)
7. (a) Solve by completing the square method. x-10x-3=0 4 :/J"c,.g)z.’.é/ () 7

(b) Draw an equilateral AABC in which S pBcabl g ()

mAB =mBC = mAC = Scm . Draw its altitudes. _.’:’;‘:{Lﬁ;l'.f_uﬂ,. mAB = mBC = mAC =5 }f&"-'

; 2 6 -1 -3] A
8. (a) Find (4B) =B'4" A’[-, gl 8=l 5 0l Sieg e (4B) =B'A" (L) 8
(b) Solve using matrix inversion method: 3x-y=10; 2x+3y=3 Gl arl I ()
9. (a) Find the volume of a sphere with radius 3.5cm. e KE 3B LI S () 9

-(b) The vertices of a triangle are A(1,1), B(5,5) and C(9,1). Prove .:f.E;;,'ﬂC{S,1):}18(5,5)<A{1,1)JI;£¢15' (....a)

that the triangle is a right angled triangle. ‘4;'._.:".«5‘:,1’}-' LS S
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B.C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C ar D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. (6"4‘5)2 "'(“—5)2 is equal to: _94:4(04*5)2 +(G“b)2 .1
(A) —4ab B) a’ +b (c) 4ab (D) 2(&2 +b3)
5 @' =3ab(a-b)-b"is equal to _é_,’uai-3ab(a*b)—b’ 2
() @ +b° @ (a=b) © a-¥ ©) (a+b)
3. Factorization of o —y3 is: _.__;.(5;&( i —y" 3
(A) (x—y](xz +xy+y2) (B) (.x:hy)(x2 +*) (0 (x—y)(;c2 ~xy+y2] (D) (x+y){x"" +xy+yz]
4. A quadratic polynomial is of degree. s :.-f,;;ﬁ’g?;,%f,?.u 3 4
(CYRY (B8 1 (c 2 (O) 3
5. LCMof 12p'¢* ; 8p’is: e fiouns12p’q’ 5 8p" 5
(A) 24pq’ (8) 24pq © 12p’q O 24p'¢’
6. For each number 'x' the absolute value of 'x' is denoted by: _.;.tig;vf,;wf_-,ffh’-\,{ 'x'ip 6
(A) X (8) 1 © o () —*
7. The solution set of [x|=3is: e or ¥ ¥ =3 7
(A {£3} ® {3 © {0} o {3}
8. The solution set 01(.?(—2)2 =4 is: _q_.L:Je’(.\‘—Z)D =4 8
) {-6,2} ®) {0.4} © {-6.-2| @ {26}
9. The number of techniques to solve a quadratic equation are: B SLE S B 5 9
(A) 1 (B) 2 ©) 3 D) 4
10. A matrix consisting of one row is called a/an: _;l_‘rwfm&i..{l_i/uﬁf_)ﬁ' 10
(A) row matrix  AFS8  (B) column matrix ..JG'JE' (C) identity matrix ._.JEJIJQ,P (D) scaler matrix __)Li'.»’:C
11. In matrix [z‘iB)I is equal to: -q.x!.c(AB)f 2Lk 11
(A) A ® B © 4B (D) B A’
12. A straight angle contains the degree. - b2 (‘_;r/_.,',' 12
(A) 270° ®) 180° ) 90° (o) 360°
13. The number of altitudes in a triangle is: Sl et 3
(A) 2 (B8 1 © 3 () 4
14. Volume of a cube with edge "£" is: "0 KA 14
(A) [ (|) © (o) 3¢
15. Points lying on the same line are called. _ug:_mla:ir,,_;mn.g 15
(A) non-collinear b‘(?ff (B) overlapping J‘p (C) equal (fs~ (D) collinear ¢4
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General Mathematics (Essay Type) (Arts Group)

Marks: 60 Time:2:10 Hours 521050
Section -1 2x18=36

(:ili'i')u:' &)d/
60:/.‘E

Jil o

2. Write short answers of any six parts from the following.  2x6=12 _J_/dffagli/ﬂé:;izlgc-éfc.tﬂJi'&w 2

i Define rational expressions.

‘ 2, Y
ii. Findp(o),ﬁ: p(y)-_:3y +_4_+9
- - - 2
iii. Simplify: \ﬁ
iv. Define quadratic polynomials.
v. Factorize: Jax + 6ay —8hy — Abx
vi. Factorize: k2 -81

vii. Define Highest Common Factor (H.C.F).
viii. Find L.C.M of. 2ab;3ab,4ca

ix. How many methods are there to find H.C.F? Write names.

s 2 pELL S e

RIS 4
;ﬂg?# p(0)

S i
wﬁﬂé’ﬁ&?ﬁf&m v
AT
w:/rd;f- vi

g /A8 i

A P i

X

3. Write short answers of any six parts from the following- 2x6=12 _g)}f'a,glzﬁﬁfrzlgc_éf;.L,:J_'sz—,» 3

i. Solve . Ix+4=17
ii. Solve. 3{x+3)=14+%x
iii. Solve and check: \3x + 41 =9
iv. Solve . ¥ +4x-77=0
v. Solve by using factorization . 5x1—6x-8=0
2
vi. Solve by using factorization . 2x==+3
X
vii. Define scaler matrix.
-5 -20-2 1
yii. Find the matrix product. . alo -3
povl
ix. Find determinant. " j
x

-
"

the supplement of the second angle by 40°. Find the angles.
ii. What is meant by vertical angles?

ii. Define parallel lines.

_ The sum of two angles is 100°, the supplement of the first angle exceeds <«

IS

r -
JAS i

ﬂz:éﬂrg,,la;sfj il
SIS
—L,E;Lfdf:-:"’;. v
LSS Fsk N
S B PSSR i
-a”érr#*__.m’w_‘)s viil

_&:,i?'ﬂ-"é; ix

Write short answers of any six parts from the following. 2x6=12 —Q&;&vﬁfﬁif’zié ;,éf;.u:d_’ it 4
N ;152:/.?-9. 100° PrASIIonN
=
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vi.

vil.

viii.

X

N

5.

3.

K%’/‘” 1795

. Define tangent to the circle. SIB IS v
. Draw a circle of radius 2cm with center "O". = h{"O"}}e}l}b’wu/’f{:‘:‘:Z R
Define area. JAw P8 i
Find volume of a rectangular box with length 4m breadth 3m and s SJrJ;;-/‘f 4J§Ju(uﬁgz?.~"’(f K3 L vii
height 2m. 2005
Write down the distance formula between two points. _gf."a__f Kholiglbend LGas viii
. Describe the location of the point on the number plane. (-2,4) _%qwlﬂdwdwf.sﬁ ix
Section -II (132>
ote: Attempt any three questions from the following: 8x3=24 _L{)};@Uﬁ&a Ulrdc.ljfa.ut d HOPROY)
1 , 1 g w11 1
(a) Find* ™ Tand ¥ T 7 if x=2+3 Ny S TEatT () s

(b) Determine whether the second polynomial is a factor of the first v RS Sl L fnj ()

4 3 . : )
polynomial without dividing. 3x"=2x"+5x-6; x~1 e d Az

2 3.2 A i %
(a) Find the H.CF by division method. ¥ +3X=4, X =2x"=2x+3 _ + LhbeHer) A 2 222 (D) 6

"(b) Solve: 3x-2(2x-5)=2(x+3)-8 ~r_:§,d' ()
(a) Solve by completing the square method: 2x> ~4x+1=0 S }Z.é/u'rf ) .7
(b) Construct a triangle ABC with base length 5cm and the angles £ /lsrld (5= sd-‘lx_’l{f‘g_. kABCeL (o)
at both ends of the base are 45° and 60° respectively. ~u60°5148° ;B Uy s s
} [4 2 ) ]
{a) Find the value of 4~ Aif: A=l e 4 St i A A () 8
9) Use Cramer's rule to solve the simultaneous equations. Sk SI I B S (_,)

x-3y=5; 2x-5y=9
) Find the area of a triangle whose sides are 5,12,and 13. W_U?.-*"‘._LKJI}_)_ﬂ3uf12‘5ul_f’y~’u({, Wil ek (U3) 9

lad
) Prove that the points A(-1,1),B(3,2) and C(7,3) are collinear. -t +845/C(7,3)41B(3,2)A(-1,1)s8. EE =t ()
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